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Solve the word problem using the RDW strategy.  Show all of your work. 

Cheryl bought a sandwich for 5
12 dollars and a drink for $2.60.  If she paid for her meal with a $10 bill, how 

much money did she have left?  Write your answer as a fraction and in dollars and cents. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lesson 15: Solve multi-step word problems; assess reasonableness of solutions 
using benchmark numbers.
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Cheryl bought 10 feet of 

ribbon. She used 5 1/2 
feet while making her 
dress and 2 3/5 feet to 

make a dress for her doll.  
How much ribbon does 
she have left? 


